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When submitting work in math class, always ask yourself these questions.
A Did | clearly identify and label an Answer that makes sense?
E Is my thinking and reasoning clearly and Efficiently Explained?

I Does my work include all the necessary Information | used to solve the
problem so the teacher can tell what every number or letter represents?

O Is my work Organized with steps and subproblems that flow in an
Organized logical manner?

XXX KX KKK KX XK KX KKK KKK X KKK KKK KKK KX KK KK X KKK KKK K XX K KX KKK XK KX KXXKX.
If so, then

U Your work demonstrates that you Understand the concepts involved.
XXX KRN KRR KK XX KXX KKK KKK X KX X KKK KKK XXX KKK KKK X KX X KKK KKK XXX KXXKKXXKXXKX
And always...

Y  Ask Why? Why did you choose the strategies you did? Why might

someone else argue for a different method? Why is the concept studied
significant?
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A for Answer

5

Answer is accurate; it responds directly to the question asked, is
clearly noted, and is labeled appropriately. Answer statement
indicates that the student understands the question.

Answer is reasonable and very close to accurate but is off by a
slight amount or is mislabeled in a minor way (e.g., student uses
cm. rather than in.). Or answer is an estimate but lableled as exact
when an exact answer is required (e.g., student answers 1.41
when 2 is required).

Answer is reasonable or accurate but is seriously mislabeled (e.g.,
student labels an area as cm. rather than as square cm.).

Answer is provided and arrived at by a reasonable process but is
not reasonable or off by a large factor (e.g., student gives a
building's height as 40,000 feet rather than 400 feet).

Answer is not reasonable or is essentially missing.
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Explanation is clear, efficient, and flawless, or student provides
multiple explanations and connects these to one another, as in
checking one process with a second approach.

Explanation is effective but not necessarily the most efficient
choice. Or the description may be correct byt awkward or verbose,
expressed without the use of mathematical notation or symbols.
Explanation is adequate and effective but may contain one or two
minor gaps where conclusions or steps along the way to the
answer are reached or stated without explanation.

Explanation is started; the process begun could be effective if
completed.

Explanation does not demonstrate an appropriate strategy or is
essentially missing.
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Information needed to solve the problem is complete and clearly
noted. All quantities are labeled, and their origin in the process is
clearly visible. Mathematical notations are correctly used , and
terms are defined.

Information is mostly available and labeled appropriately, but minor
errors exist or labels are missing (e.g., a major piece of the
problem solution such as "2 cm. per every 3 minutes" is simply
stated as "2/3").

Most quantities are labeled, but some missing labels confuse the
process.

Quantities are incorrectly labeled or are missing labels. Bariables
are used without being defined.

Labels and notation are few or lacking.
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Organization is thorough and complete. The student's thought
process can be followed in the explanation, and steps are clearly
labeled or in logical order.

Process flows in order, but some minor steps that the student may
consider obvious have been skipped.

Steps follow in order or are marked; however, the process may
contain run-on equations or missed steps that confuse the
explanation (e.g., in arriving at an answer of 30 inches from 3 feet
minus 6 inches, a student might write "12 * 3 = 36 - 6 = 30 inches",
showing little regard for the equal sign or unit inconsistency).
Some attempt has been made to organize the process, but steps
are out of order or steps critical to the process are missing.
Process is messy, illegible, or obscured and is difficult or
impossible to follow.



[image: image6.png]A space ship is approaching a star and is caught in its gravitational pull.
When the ship's engines are fired, the ship will slow down, momentarily stop,
and then, hopefully, pick up speed, move away from the star, and not be
pulled in by the gravitational field. The engines were engaged when the ship
was 750 thousand miles away from the star. After one minute, the ship was
635 thousand miles away from the star. After two minutes the ship was 530
thousand miles away from the star.

(a) Find the three points from the information above where x represents

the time since the engines were engaged and y represents the distance

from the star.

(b) Plot the points in part (a).

(c) Find an equation for the parabola that fits the three points you found

in part (a). (Only an algebraic solution will be accepted.)

(d) If the ship comes within 50 thousand miles of the star, the shields

will fail and the ship will burn up. Use your equation to determine

whether the spaceship has failed to escape the gravity of the star.




